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3- Which structure matches the given name?

m-dichlorobenzene
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3- Choose

the major product from each equation
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Rotation about the axis of a double bond through an angle of 90° results in the

breaking of the = bond B (E)
‘The hybridization of all carbon atoms in Butene 1s sp \___@" (F)

B -—--’Secund Question
hoose the correct answer and write your answer in the the answer sheet

Which compound of the following cannot exhibit cis / trans isomerism
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~3,3-Dibromocyclohexane b- 1,2-Dibromocyclohexane

1 ,4-Dibromocyclohexane

L e———

¢- 1,3-Dibromocyclohexane d-

T

= The ability of atoms in forming stable bonds with itself and joining up

in chains or rings.

- functional group b- Alkyl group Le<Catenation
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8- The ITUPAC name for = 4-Cyclopentyloctane.

a- 4-Octylcyclopentane.

¢- 5-Cyclopentyloctane. d- 1-Cyclopentyl-1-propylbutane

9. Which of the following compound pairs are chain isomers?
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Choose (the product) of the following reactions:

Dark, room femperature
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alse "F* (write your answer in the answer sheet)

[alse = p

Rotation about the axis of a double bond through an angle of 90" resuliS NS
breaking of the  bond @ (F).
o S Furkaest A° : ~ . . n -
F Fhe hf‘h!ld:f;tlmn of all carbon atoms in Butene is Sp @ (F)

I — Second Question

Jioosc the correct answer and write your answer in the the answer sheet
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Which compound of the following cannot exhibit cis / trans isomerism

a- 3,3-Dibromocyclohexane b- 1,2-Dibromocyclohexane

(¢~ 1,3-Dibromocyclohexane ) d- 1,4-Dibromocyclohexane

R T'he ability of atoms in forming stable bonds with itself and joining u
in chains or rings.

a- functional group b- Alkyl group CE Catenation”
| E— compounds with the same molecular formula but different structures
a- Isomerism 2 b- Constitutional Isomerism c~- Geometrical Isomerisn
e ——— -

5 Determine the double bond stereochemistry (£ or Z) for the following mole
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rea
ction of Z-bromo-2-methylpropane with water:
CH;

CH,
I 13":—— C— RBr H-,0O - o~ .

| S ”sk—-{i-(}ll + Hh
CH; CH,

Is the reaction of 2-bromo-2-methylpropane with water an example of:

a) a substitution reaction? b) arearrangement reaction?
¢) an elimination reaction?.

d) or an addition reaction?. ..
8. Determine the double bond stereochemistry (E or Z) for the following molecule '
HE._C—D\ H
e—c
/
H,C CH,CH;
a- E notation

b- 2z notation

c- None
9. Classify each of the following pairs as chiral or achiral.
CHj CH,
B4 | )V”’Br
i “ H
1 1T None
a) achiral. b) chiral. c)
10. Halobenzenes are comparatively unreactive tuwar? = reactions
a) SN° b) SN’ c) SN'+SN
are stereolsomers whose molecules are not ‘mitl'mr ifnages of each other
113--51;5{;51*[3(};]]{3[‘5 b) Enanfiomers c) Cﬂnsmutmnal 1SOMers
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Explain Why Alkyl halides have higher melting point tha
al _ | |
8 " |kanes, alkenes, and alkynes \-Po lar kY 2 -Mo ecular
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3.Name (in TUPAC form) the following three compounds.
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3. Tbepmdu‘to(tttfmrucﬁolk:
Na or Li / Lig NH;

ch—___—;_-cH’ ————————
T | y. d) Butane




